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Instruction (A) : Question No. 1 is an objective type
question. It has three Parts - Part (A), Part (B) and Part
(C). Part (A) has multiple choice type questions, Part (B)
has fill in the blanks and Part (C) has match the
following. Each Part has 5 questions and each question

carry 1 mark.
ool (EUS - ) T faee e fafl [1x5=5]
(Part — A) Choose and wnite the correct option:
G) i et e Fredt 7S 8-
(3 eEHATH

]ndira'Gandhi canal has been constructed-
(a) Harike Dam
(b) Gangrel Dam
(c) Hirakud Dam
(d) Bhakra Dam
(i) FFmHgEs-
(31 - e e @
@) wHA (I gEahis
@) yie=afer ang

@ sHmeh
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is an indicator of devclopment.

IR 26cos

(a) Education and health
(b) Human Dcvelopment Index
(c) Per Capita Income
(d)  All of thc above

(iii) @O T HT AT AT -
(3) 9HET H A9 & Grd
@) HFEGT F AT & a1
@) STUFAAHE T

- Kharif season arrives-

(a) With the withdrawal of monsoon
(b)  With the amval of monsoon
(c) After Makar Sankranti
(d) None of the above

(iv) WA= e-
() HHA-EHA LR
@ TR
@) FAEHHHIR
(@) aa i feafa
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Cold waris

(a) Face to tace battle
(b)  Guerilla warfare
(¢)  Warin the sky

(d)  Stressful situation

(v) G RO ST AT Fvaeandt A A H
() e
@) IUE
@ TwRM
@ FIX

is of great importance in making
information transmission faster world wide.

(a) Mobile
(b) Satellite
(c) Laptop
(d) Computer

T (@S - ) fora wen i fd Aif - [1x5=5]

(Part - B) Fill in the blanks:
() WRWFATR__ Freamray

Five hundred rupees paper currency has the
signature of
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(i) AR HIT &I wH En

Russia became a country after the October
Revolution.

(iii) HET A F 9 T .

. The only ore of chromium is

(w) 9. €. . & FAa I e S SaF wEr
o W T IYCaT T el 3

Under PD.S., food grains are provided to eligible
families at prices every month.

(v) Sftam q s e ffifa A

Settlement means human-built

qH-1 (S - H) fa e s [1x5=5]
| @ @
() wnEdd () BT
(i) SARYE ORELISRIE
Gii) $& (®) T AT
(iv) mq’m @ g & Fworar
IR WEH

(v) TRTE IR () FiRenREr
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(Part — C) Match the following:
(A) (B)
(1) Marshall Tito (a) Coal
(i) Excise duty (b) Inschools
(i1i) Fuel (c) Election Commission

(iv) Midday meal (d) Tax imposed on
manufacture or
production of goods

(V) Registration of (¢) Yugoslavia
political parties

ﬁ%ﬂ@:mmzﬁﬁwaﬁqmm%}m |
T W 2 IF e § @ A sftrman weedmr 30
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Instruction (B) : Question No. 2 to 6 are very short

answer type questions. Each question carries 2 marks.
(Maximum word-limit of answer is 30 words)

T2 ST ST Ry

12]
What is life expectancy? '

T3 G waE F H o i fafay

. [1+1=2]
Write any two names of Rabi crops.

US4 AT IR Pt g I fafiay
| Write the difference between import tax and export tax.

UTHURIINNII  2ocos

[1+1=2]
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e, W%W@ﬁ? [1+1=2]

-6 O S gy gy

What is minimum support price?

12]
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Instruction (C) : Question No. 7 to 10 are very short
answer type questions. Each question carries 3 marks.
(Maximum word-limit of answer is 50 words)

-7 e u s e s R A dm ' 13]
If sex ratio is decreased in any country what will
- happen?
UYA-8  HIHTIAIE 1 §? WRE o A= & et am [2+1=3]

What is imperialism? India was under which empiré? |

Ue-9  IfEw e TeRsas A Fa (14141
| What needs do residences fulfill? =3]
TPR-10 i S e e g R 1w 9 i3l
Why were the local residents of Niyamgiri opposing
mining?
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P (2) : T FHIE 1 ) 14 7 Y3004 T 8 T
T A TR faaeT {1 ToE I W 4 3 AaEted 8l
G Afrwan wez-Hiwr 75 T §)
Instruction (D) : Question No. 11 to 14 are short answer
type questions. Each question has internal option. Each

question carnes 4 marks. (Maximum word-limit of
answer is 75 words)

qyA-11  FQHIHOT HETYH UF SFHator dam 3 1 s 82 [1+14+1+

What is the difference between renewable resources and 1=4)
non-renewable resources?

HYar
OR

-JftmRer Hfafe 2013 W g Sifay
Throw light on Land Acquisition Act 2013.

T-12 U 69 & wrqar & fadt 9 faegial =t fafag [1+1+1+

Write any four principles for the establishment of the 1=4]
League of Nations.

Frorat
- OR

“1914 3. 3 YO §Q 2 Y farvages e STt 81 56 Fe

LIRIEE |

The war that started in 1914 AD is called World War,
Confirm this statement,

DR 2oco
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uyA-13  pidiaR & 9n E fafay [141+14
Write four characteristics of fascism. 1=4]
AGQT
OR

e fovages & = HIoT & Ied )

Mention four reasons for World War I1.

WET-14  MTST ST SR T & 1T HHRIE T T [14141+
What were the positive effects of the formation of 1=4]
language based states?

YA
OR
IR fieg e forer i et 213, it e & wfeesit 1
Rearfer = T ggam

If Hindu Code Bill (Law) would have not passed, what
effect would have been on women of India?

'. R @) : T 15 T 16 FE-ITHT TH 8 ThS T
¥ Il faey 81 TQ® W W S5 376 AEfea & (W
Ht HAftreay wrse-HHT 100 T2 B)

Instruction (E) : Question No. 15 and 16 are long answer
type questions. Each question has internal option. Each
question carries 5 marks. (Maximum word-limit of
answer is 100 words)

KB ILIRHRHAARR 2ecee e



(10)

quA-15 0T R FEd 87 RO & foTg IId R &4 3L, §HE, S, (14141
firet snfe it FTTEHAr [ At 87 1+1=5}
What is toan? Why some conditions like interest rate,
time, guarantor, mortgage etc. are essential for loan?
YT
OR
Ifz vl fed 3% afufas IS w e @i @, @
gﬁ@mmwwm@m
If the Reserve Bank of India does not control

commercial banks, what will be the impact on the
currency and credit system?

uwi-16  F-areteor i Aawwar 9491 €

[1+1+1+
Why was disarmament needed? 1415
HIAT
OR
T e i g fadrant fafa

~ Write the main features of social movement?

& (%) : v i 17 @ 18 & satia v 8 @
T & Hiafts faeeq 31 785 199 T 6 i Tafea &
(S ST =z 150 =2 )
Iﬂmmlﬂ") Question No. 17 and 18 are long
answer type questions. Each question has internal

option. Each question carries 6 marks. (Maximum
word-limit of answer is 150 words)
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UER-17 MG & URNfa A afeat s s A age d @ea g (141414

Briefly discuss the powers and functions of the 1+1+1
President of India. =6)
HGAQT
OR

T ST 3 TUHAT U 90 & 9 T 19 F4T 81 98
AT 78T a1 SR aFE 7 o1, 391 -l s |
gfifaa fearmar &2

In Indian democracy, the Prime Minister works like an

axis. He should not be autocratic and become dictator,
for this which methods are precised?

TH-18  Tfa e AN, 3 Eevr F 9 FT AT IR [1+1+1
G B? | +1+1+1
What similarities and differences do you see between =6]
print media and T.V. communication?
YT
OR
SAEER AR % 9 T 21 fafey

Write the advantages and disadvantages of mass media.
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